BF =Bk

B AL T IRE 11:10
FLEREO AT SER FSE
H\/(/F}% [S?EE%% 1m95 2m00 S AC NEhr fi5#5
L | 11600191 JEJIT TR
Gtk fEH) X 1m95 1




BF mEbk

BELCHS THFIA]  12:33

SR ' fik

[FoR—] B4 R R .
(A& -BeEt) 3m30 4m20 4m30 4m40 4m70 4m90 5m00 5m10 e A fiii =

—_

[160045] A% B4
(PR - HAD) X | x| x NM

[140047] Hij =% #E
(BRI R - i)

O X | X]O] X | X|X 4m30

[140059] JE% 5.2
€TINS

X | X|O| X| X | X 4m20

[150030]  #flEx F5
(AR HIF)

- - O X | O X | X|O] X | X | X 5m00

[160014]  Fafs et
(B R - i [it])

N e e

- O O X | X | X 4m90




B+ FEERE

ks diclliedi] 11:28
BLEREO A B g
[bj*\//\““—] EEZI =2 B g = A N
(IR ) IEIH | 2[EH | 3[EE |3EURE| 4BIE | 5EIH | 6[EH |[KEiiey JEN. | S
[169097]  #EAT BBIK[  7me9 R F Tm69 F R 7m86 7m86 )
1| (BEvTo—H% HR) +1.0 — — 1.0 0.8 3.7 +3.1 +3.1




BF =BeBk

BRI AE TIRER]  12:20
BLEREC AT i E A
on=] KA = =S R
(}EJT)% 'Kﬁﬁ%) ].IE]E 2IEIE SIE]E Bﬁlﬁilﬁj 4IE]E BIE]E 6IE]E Ei‘lﬁ]naé% ]”/\’fll. ﬁziﬁ”:%
[140033] &R B P P 14m12 14m12 13m90 F - 14m12 3
1| FERKR IRE) 4.— — +1.6 1.6 2.9 — 4 1.6
[140001] (L& e P P F m 14m22 F 14md4 14md4 )
2| (K - KBR) 4 — +.— 4. 1.0 — 2.9 2.9
[150036]EH HE A 14m27 F 14m26 14m27 F F 14mA49 14mA49 )
3| GREK IR E) +1.6 — +4.6 +1.6 4.— — +3.2 +3.2




xF ek

B T IR

11:40

RELAK AW Ak

o]

K4

(FriE - FEts) 2m90 3m00 3m10 3m20 3m30 3m40 3m50 3m60 el AT fii =

[140058]  &H 1

R TNEY N D - X - % | x 3m00 5
[120053]  #epk 0

o | (P RBE -dbifmE) - O - x| x|o - X 3m30 3
[160053] J\AH H3E

3| IR ) - - - x| 0 - X 3m20 4
[150045] A 75

E N PN 25N - - - - X X 3m50 2
[140003] ZER R

5  CRIEK -#HE) - - - - X 3m50 1




ZF FEEBk

R T RER 11:28
Lk A By e
[Fon=] K4 =RETN Bl = s IELiva i
(R -petyy | EHE | 2EE | 3EIE | 3E| 4RIE | SEIA | 6[HH S5 Ji=rn o I 1= U VAR I
[150040] =& W& 5m48 5m48 5m37 5m42 5m55 5m55
1| GREER ) [+-— 1.2 1.9 1.1 0.9 11 11 2
[160029] /& ik | sm3e 5md5 5md5 5md6 5mb4 5m65 5m65
o GRER B |33 +0.5 +0.5 +0.5 +2.1 +1.8 +1.8 1




